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Question Number : 1 Question Id : 68019114883 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

Online
Mandatory
20

20

80

Yes

0

1
680191380
Yes

null

LISTI LISTII
. . . - . - - .
A ® } { = [. |Neither surjective nor injective
[ ] L]
& .s g - g
B. — [ o II. |Surjective but not injective
-l \_»

C. IT1. |Injective but not surjective
i = ; i ® :

#
D. G—}—/"_’r. * IV |Injective and surjective
. s

Choose the correct answer from the options given below:

Options :

68019157751, A-IV. B-1I. C-III. D-I

68019157752, A-L. B-II. C-IV, D-III



68019157753, A-IV. B-III. C-II. D-I

68019157754, A-IV. B-1II. C-I. D-II

Question Number : 1 Question Id : 68019114883 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T 11 gt o ¥ fiaE Fiftg

Seill T I
alls ) | L [dome@tTavee:
B. ' ; - E' I1. [HT=57E) & R U Tel &

C. v%/’@ I |05 8 R AR T
2 @”‘(': IV. |Q@e! AR =BTl §
2 Ry e § F o SR I

Options :

68019157751, A-IV. B-1I. C-III. D-I

68019157752, A-L. B-II. C-IV. D-III

68019157753, A-IV. B-1II. C-II. D-I

68019157754, A-IV. B-1II. C-I. D-II

Question Number : 2 Question Id : 68019114884 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A college awarded 38 medals for cricket, 15 for tennis and 20 for football. If these
medals were bagged by a total of 58 students and only 3 students got medals for all
the three games. then how many students recerved medals for exactly two of the
three games?

Options :

68019157755. 9
68019157756. 18
68019157757. 12

68019157758. 6

Question Number : 2 Question Id : 68019114884 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U DIad A fohdoe & feru 38. 29 & iU 15 quT Bedrd & forw 20 O 3T |
gl g% USd Pl 58 B! gRT I [T 7T aYl bad 3 B A g4l diH @al &
foTu e Ui [, di fba- ®E1 4 dF Wdl | 9 did &l § dsd wid fbu 2

Options :

68019157755. 9

68019157756. 18

68019157757. 12

68019157758. 6



Question Number : 3 Question Id : 68019114885 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If o and P are the roots of ax” + bx + ¢ =0, then the value of
1 1

: =% 5 1s

(aw+b)"  (aPp+b)

Options :

1
b =2¢

68019157759. ¢

68019157760, (ac)”

68019157761. ¢

68019157762. ac

Question Number : 3 Question Id : 68019114885 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

_— 1 1
g al+bx+ec=0h dquipe.dl —+ FIOG:
s me (aa+b)  (aP+b) ¢

Options :

j
b -2c

68019157759, ¢~

68019157760.



b —2ac

{crc’}j

b —2¢
68019157761. c

)
b= -2ac

68019157762. ac

Question Number : 4 Question Id : 68019114886 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 2 3 4
5 6 7 8§ . ;
Let 4= . then determinant of 4 =
g 9 9 9
8 8 8§ 8§
Options :

68019157763. -1

68019157764. 0

68019157765. 1

68019157766. 72

Question Number : 4 Question Id : 68019114886 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 2 3 4]

trﬁ:a_) % z%‘.?ﬁafﬂwﬁm=

9 9
8 8 8 8

Options :

I
=t

68019157763.

68019157764. 0

68019157765. 1

68019157766. 72

Question Number : 5 Question Id : 68019114887 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In how many ways can we select four cards from an ordinary pack of playing cards
30 that two of them are of the same denomination and the remaining two are of
some other same denomination?

Options:
68019157767. 78
68019157768. 150

68019157769. 715

68019157770. 5616

Question Number : 5 Question Id : 68019114887 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

&1 Yo 4y O & Uil P U JIYRUI A= DI 151 I IR 1% & Ul Dl
?ﬁaﬁ?@@gﬁfwn ¢ 3 U3 UD &1 A & quI A9 &l [t e T
qH & 8l?

Options :

68019157767. 78

68019157768. 150

68019157769. 715

68019157770. 5616

Question Number : 6 Question Id : 68019114888 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

" % N
If the coefficient of x” and x® in the expansion of LE + %J are equal. then n s
Options :
68019157771. 56
68019157772. 55

68019157773. 45

68019157774. 15

Question Number : 6 Question Id : 68019114888 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
W1

trﬁ:tzgj B PR B 7 U7 x5 & Ul aRTER &, dl n SRIER 6 -

Options :

J
o

68019157771. 5

- |
L

68019157772. :

68019157773. 45

68019157774. 15

Question Number : 7 Question Id : 68019114889 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The sum of all those terms of the arithmetic progression 2. 6. 10. 14, ....... . 598
which are not divisible by 3. 1s equal to

Options:
68019157775. 30300
68019157776. 30000

68019157777. 29400

68019157778. 30600

Question Number : 7 Question Id : 68019114889 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
TR 4ufl 2. 6, 10, 14, ....... . 598 & 3§ fqUIfSd 9 14 arat 91 Ul H1AR1 3:
Options:

68019157775. 30300

68019157776. 30000

68019157777. 29400

68019157778. 30600

Question Number : 8 Question Id : 68019114890 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

- " i . ~ A7 . -
The first two terms of a G.P. are x> and x”, respectively. If x*2 is the sixth term of

. 3 B
the same progression. then #- 1s equal to
Options :

68019157779. 16

68019157780. ¢

68019157781. 36

68019157782. 25

Question Number : 8 Question Id : 68019114890 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



U% G.P. & YYH &l UG A x— TUI " § 1 TG 39 40l BT 561 9e x*2 8. dl
TR T :

Options :

68019157779. 16
68019157780. 9
68019157781. 36

68019157782. 25

Question Number : 9 Question Id : 68019114891 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Suppose L 1s the line joining the pomts (0. 0) and (1. 2). If a line parallel to L

g ) . . . .
meets the curve y = 2x° + 3x + 1 only at a single point P. then the point P 1s

Options :

L 3)
68019157783.[4~HJ

68019157784, (2. 15)

[ —1
68019157785, . 4

b

(.1 5
68019157786, . 4 16

Question Number : 9 Question Id : 68019114891 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

a1 b fagsit (0. 0) AT (1, 2) BT SIS AT W@ LTI TR DI @L S
JOHIR § Sl ab y = 232 + 3x + 1 Bl Had U ol 195 P R e g, dl fag P
g

Options :

33
68019157783, 4 & J

68019157784, (2. 13)

[ —1
68019157785, \ 4

S| e

[ 3 5
68019157786, . 4 16

Question Number : 10 Question Id : 68019114892 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

= ; ; pif o x ) -
A manufacturer can sell x items at a price of T | 5- P cach. The cost price of x

L ; (x ity i i i
items 1s T | =+500 |. The number of items he should sell to reach maximum profit
L 3 J

18
Options:

68019157787. 100
68019157788. 240

68019157789. 500



68019157790. 480

Question Number : 10 Question Id : 68019114892 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U [-Hldr x axgad ol 2 5—— W T P AT I 39 HHdl & | x TEISH BT

100 )

&0 el 2 T'L—:+iil{1:%'| SR aH AT T B & o1y 39 fasait axd gt
amqr

Options:

68019157787. 100

68019157788. 240

|
=
=

68019157789. :

68019157790. 480

Question Number : 11 Question Id : 68019114893 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

|
The value of j IugL.[l —~ I}:-{r 18
0 r

Options :

68019157791. 0



o8]

68019157792.

68019157793. 1

| ]

68019157794.

Question Number : 11 Question Id : 68019114893 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[
J- log,
0

Options:

= dx 17 RIS &:

\ X

68019157791. 0

k2

68019157792.

68019157793. 1

| )

68019157794.

Question Number : 12 Question Id : 68019114894 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
dy
d

If (1+cosx)———(y—3)sinx =0 and y (0) = 0, then the value of ; |r§ BE

Options :

68019157795. =3



68019157796. 3
68019157797. ¢

68019157798. 6

Question Number : 12 Question Id : 68019114894 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
dv ; : -
afe (1 +msx}d—‘}—(;r—3]smx= 0 dUly {{}}={}%. GIR |{'%t  DHTHHA ©:
0 L)

Options :

68019157795, —3
68019157796. 3
68019157797. 9

68019157798. 6

Question Number : 13 Question Id : 68019114895 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a straight line passing through point P (3. —5) is such that its intercepted portion
between the co-ordinate axes 1s bisected at P, then the equation of the line 13

Options:

68019157799, Sx 3y = 30=0



68019157800, X — 3y —30=0
68019157801, Sx — 3y +30=0

68019157802, —>x—3y+30=0

Question Number : 13 Question Id : 68019114895 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe fig P (3. -5) I BRI ATa U X1 59 ISR © [ 9@ Hogia el
& &1 &1 YN P R Fafguiford gia1 &, df 59 a1 & e §:

Options :

68019157799, 5x T 3y +30=10

68019157800, 3x —3y—30=0

68019157801, Sx— 3y +30=10

68019157802, —>x—3y+30=0

Question Number : 14 Question Id : 68019114896 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. . . 2 3 . . -
The intercept on the line x =y by the circle x* + 3= — 2y = 0 13 AB. The equation of
the circle with AB as a diameter is

Options :



2

7
68019157803, X TV Tx+y=0

3

¥
68019157804, ¥~ TV —x -y =0

)

3
68019157805. X Ty —x+y=0

-

> 3
68019157806. X TV Tx—y=0

Question Number : 14 Question Id : 68019114896 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Wlx=y R x> +)7? —&;—UWWWSH@EAB%IQHWW
o AB 3. 1

Options :

7

>
68019157803. X TV Tx Ty =0

2

3
68019157804, X TV —x—y=0

3

¥
68019157805, X~ TV —x~y=0

-

3 )
68019157806. X TV Tx—y=0

Question Number : 15 Question Id : 68019114897 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



If the foot of the perpendicular from the pomt (0. 0. 0) on the line

i Sak e Gk ’ i
s . T is (a. b. ¢). then a? + b* + &% is
J 2

Options :

68019157807. 34
68019157808. 14
68019157809. 24

68019157810. 44

Question Number : 15 Question Id : 68019114897 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

T Yy X2 :J'::E - ::3 R §(0.0.0) ISR T AT FTUE (a. b. o) ©.
3 Fan

da? + b2+ 2 W T
Options :

68019157807. 34

68019157808. 14

| )
=

68019157809.

68019157810. 44

Question Number : 16 Question Id : 68019114898 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
If the vectors 4B =13/+8% and 4C=5;-2 j+6k are the sides of a triangle 4BC.

then the length of the median through A4 1s

Options :

68019157811. v33

68019157812. V66

o,

68019157813, /36

68019157814, V72

Question Number : 16 Question Id : 68019114898 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U WY 4B = 37484 TU AC=5i-2j+6k UP FYT ABC BT YSUE. M4 Y
AT (median) G| ?ITYI'IEF %:

Options :

68019157811. v33

68019157812. /66

£,

68019157813, V56

68019157814, V72

Question Number : 17 Question Id : 68019114899 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
d=6i+2]—Mk, b=3i +(3—}h2)_}'+2ﬁﬁt el
= 2; + (] + i;); = 3,&_ are three vectors such that C? = 31.;' and b 18
perpendicular to E then (4. Ay, 43) 18
Options :
(9,21, 1

68019157815. * 3)

(9,3,
68019157816. ! 3

1
fad | =
T || =

L | —

68019157817. °

68019157818, (3. 3. 1)

Question Number : 17 Question Id : 68019114899 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gt dm e d=6i+2j-Mk, b=31+(3-4, ) j+2k qur

¢=2i+(14+4)] -3k SAUPRE [ a=3c 3. 9UT b . W ¢ S ead g,
(g hos 1) B

Options :

8,81 |
68019157815. 37

(5,5 -2
68019157816. ! 3)

68019157817.



I
[
T || =
"
|| =i

68019157818, (3. 3. 1)

Question Number : 18 Question Id : 68019114900 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let xq, X7, X3, X4, X5 be observations with mean m and standard deviation 5. Then.

which of the following statements are correct:

A. Mean of the observations x; +k x; +kxg +kxy +h xs Hhism + 5k

B. Mean of the observations kxy. kx,. kxs, kxy. kxs 1s fon.

C. The standard deviation of the observations x; + k. x, + ko xy +hoxgs +hoxg +
kiss.

D. The standard deviation of the observations ky;. kv,. kxs. k. ks is &5,

Choose the correct answer from the options given below :

Options :
68019157819, A.B.C. D
68019157820, A- C only

68019157821, B. D only

68019157822, B. C only

Question Number : 18 Question Id : 68019114900 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT YOI x4, X5, X3, Xy, X5 BT HIH m 9UT HHESD [d9a4 5 7 | dl FafafEa
S H Y DH Y HYF TR 82

A UEUT X, +kxy + ko x3 + ko xy + k. xs + kBT HIH m + 5k B
B. WU Jox,, koo, ko, by, o BT AT kom B

C. U&UM x; + k. x5 + k. x5 + k. x4 + k. x5 + k BT A dd0 5 B
D. V&I kx,. k. ks koxy, boes @1 HIFS [d=eH ks B

2 Ry R S s SR IR

Options :

68019157819. A.B.C.D

68019157820, POT A, C
68019157821, PAUB. D

68019157822, PAU B. C

Question Number : 19 Question Id : 68019114901 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. . 2 g | i)
Let the area of the region enclosed between the two circles x* +3~=a" and

2 ’) 7 m i 3 o : i
(x—a) "+ vy =a be ?(43' - 3\."'3J sq. units for some a = 2. [t a 15 a root

of ¥> = 3% —6x + 8 = 0. then

Options :
68019157823. m> = a°

68019157824, m= = a°

68019157825 m™* = a*



68019157826. m- = a-

Question Number : 19 Question Id : 68019114901 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
ﬁ@?ﬁ P+t =a? Tl (x —a)l+ 1P = TR ST BT &A% d [PHl o= 2P
fere ?(4;: ~3V3) T gTg 81 AG x*—3x2—6x+8=0 B TP Yl a &. I

Options :

68019157823. m~ = a"*
68019157824, m* = a-
68019157825. m™ = a

68019157826. m- = a-

Question Number : 20 Question Id : 68019114902 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
1 3 f -_
Suppose ;rrz }'{111}5 =0, where f(x) 1s continuously differentiable function
f"(x) f'(x
with f'(x)#0 ¥V x € R and satisfies f(0)=1 and '(0)=4. If f(x) = &+ L.
where . 1t € . then the value of 3%+p? is
Options :

68019157827. 2

68019157828. 4



68019157829. &

68019157830. 16

Question Number : 20 Question Id : 68019114902 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T iferd ::H :: t]] ~0 8. 98T f£(x) Gad AaPHa-1d Bad g 3R

F(x)#0 ¥ xeR EAULL(0)=1 3R £'(0)=4 BT Gy Hal ¢
S f(x) ="+ . 98l . = ®g.dl T GARICES
Options :

| ]

68019157827.

68019157828. 4

68019157829. 8§

68019157830. 16

Mathematics Section B

Section Id : 680191291
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory

Number of Questions : 10



Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 680191381
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 21 Question Id : 68019114903 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 3 = e 3 3y 2
The equations ax“ +bx+a=0. (a. b € 5) and x —2x~ + 2x — 1 = 0 have two
common roots. Then the value of a + b 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 21 Question Id : 68019114903 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Wﬂﬁarl—bx—c;r:{}.{a.bER)WrE—JIE—EX—l=D$a3mﬁ'§ﬂﬁ
Sl dMa+bPIAASD

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 22 Question Id : 68019114904 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let A be a matrix satisfying 4> = 34 + 2] where A # nl, n€Z. If 42 + a4 + B = O,
then maximum value of ja + f 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 22 Question Id : 68019114904 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

AT US 3HTGE 4 D (047 =34+ 218, 55T A< nl, neZ |
gfd 42+ 04 +BI=0.%. Tl o+ p| BT IFTH A © .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Number : 23 Question Id : 68019114905 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

An equilateral triangle is inscribed in the ellipse *_ 4 2 — | such that one of the
3

vertex of the triangle 1s (0. 1) and one of the altitude of the triangle 1s along the

y-axis. If A is the area of the equilateral triangle. Then 625A7 is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 23 Question Id : 68019114905 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U THaTg Ayw Mg £, 2 - | HSH ISR fid ¢ o Bryet o1 T 2
3

(0, 1) & G130 D1 U Wfiferes y- 2181 & SRR 31 S A GoaTg By @1
&A% &, 1 625A2 WER § .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 24 Question Id : 68019114906 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
3

The volume of the greatest cylinder that can be inseribed in a cone of height

&

and semi-vertical angle 45° 15
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 24 Question Id : 68019114906 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

S % qUT 3783 DIV 45° & XP & SATd a1 Pl HUHaH T §
T

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 25 Question Id : 68019114907 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



. SN X S X
If the function f(x) 1s defined as f (_I') = I -+ € . Then

2

| —x

the value of l I s f (I) cdx 18 equal to
g Y- 2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 25 Question Id : 68019114907 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

] .
- SIN X Sin x
Rwwse. f(x)=[1+e™ ERIaRYT .

] — x? 2

lr’if(x) dx THF SRR T

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Number : 26 Question Id : 68019114908 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
2
1+y

A line touches the curve y =y (x) at a point (x. v) having slope z
L
(.1 -
where x> 0. If ¥(2) =1, y(3) = [—5 and ged {o. p} = 1. then the value of a +p
18
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 26 Question Id : 68019114908 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2
PEXTT =y (1) PR (v, ) TR T Bl 2 ot raoran ”_‘”2_ 3
1+ x
Glﬁx:m%ltri%y(b:i.y{3}=%mﬂgcd{a.[s} =18 d o+ pHTHAS

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



Question Number : 27 Question Id : 68019114909 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The equation of the base of an equilateral triangle 1s x + ¥ = 1 and the opposite
vertex has co-ordmates (—3. 2). The area of the triangle (in square units) 1s

represented by A4. then the value of /34 is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 27 Question Id : 68019114909 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U THEE AYd & YR ST THSIO x +y =1 § a1 9F Y & FHemie

(-3.2) 81 ufe 50 Brys o1 dorwd (@ 5P1s 1) 4 R ¥ T g, | /34
CARIC .

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 28 Question Id : 68019114910 Question Type : SA Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let R be the point (13, — 8. 10) and P(a. . 1) be the image of the point Q (5. 2. 1)
in the line x — 2 =3 — y =z +1. Then the square of the area of the triangle PQR 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 28 Question Id : 68019114910 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

AR fag (13.- 8. 10) AU @I x—2=3 —y=z+1 @ Q (5, 2. 1) FI
Uife™ P(o. B. 2) B, I S PQR & &%d &I ¥l §

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 29 Question Id : 68019114911 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



A hospital conducts a free eye check-up drive at 3 different locations A. B and C of
a city. The number of people that came for test at A is thrice as much as that at B,
and number of people that came at B 1s same as that at C. The results show that 4%
population at A, 2% at B and 3% at C have poor eye-sight. If a person from the

city goes for an army job and is found to have poor eye-sight. and the probability
. . . P B )
that he is not from location C is 7 where g 1810 simplest form. then value of

(pt+ag)is -

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 29 Question Id : 68019114911 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U9 R dreg Ue U8 & 3 e WHT AL B, TUT ¢ R 3111 &l F:eb Sid ol
TATEH PRA1 ¢ Wi & 1T A W MY A1 @1 TR\, B W MY G bl e
&1 <fF 7T § aY1 B UR 31U ATl &1 TRe1 Ia-1 &l § fofa-l ¢ &R | R 78
Zid € 16 ATR 4%, B TR 2% YT C TR 3% S48 P 7ok FHOR ¢l TEx
TP G I1 B AB<] & [A4 STl & qUT ITB! FoR FHIR gl Sl 3, T
IS WH ¢ ¥ 7 §H B Wi | & S | WAaaa G AR, A (p + ) B
e

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 30 Question Id : 68019114912 Question Type : SA Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The number of pairs (x. v) satisfying the equations sin x + sin y = sin (x + v) and
x|+|y|l=1is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 30 Question Id : 68019114912 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

JHIBRT sin x + sin y=sm(x+y)dil|x|+|y|=1 Pl '-’:Iij,E H3- ard
gl (x.y) DI I E .

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Aptitude Test
SectionId: 680191292
Section Number : 3
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 50

Number of Questions to be attempted : 50

Section Marks : 200
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 680191382
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 31 Question Id : 68019114913 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a certamn word code. EXHAUST i1s written as CZFCSUR. How 1s NETWORK
written in that code ?

Options:

68019157841. LCVYQTI

68019157842, LGVYQTM

68019157843. LGRYMTI

68019157844, LCRYQTM

Question Number : 31 Question Id : 68019114913 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



P UP Uk HIS H EXHAUST Pl CZFCSUR {ERT SITdT § | NETWORK I
39 Bis T oy forar s

Options :

68019157841. LCVYQTI
68019157842, LGVYQTM
68019157843. LGRYMTI

68019157844, LCRYQTM

Question Number : 32 Question Id : 68019114914 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
In a code language. if "BRICK" 1s written as "CQJBL", then "CEMENT" 1s

Options:

68019157845. DDOFOS
68019157846. DDODOS
68019157847. DDNDOS

68019157848. DDNFOS

Question Number : 32 Question Id : 68019114914 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U% ¢ YN H gf¢ "BRICK" &1 "CQIBL" feRal ST 8. I "CEMENT" &I
ferar s

Options :
68019157845. DDOFOS
68019157846. DDODOS

68019157847. DDNDOS

68019157848. DDNFOS

Question Number : 33 Question Id : 68019114915 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

/N A

When the paper 1s folded 1n a given pattern and 1is cut at the end. Identify which
pattern is formed when the paper is unfold?

Options:

68019157849, e " 3

68019157850, L= =*

68019157851.



68019157852, L=

Question Number : 33 Question Id : 68019114915 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

/N A

SId U IS Bl 16U U UeH & 33U HISl Il 6. 31 H PIeT olldl § Ygdr
&3 & o1d ST e (3FwIe) fhar 9u 98 &1 91 Ued g4

Options :

68019157849, e " 3

68019157850, Le =i+ =

68019157851.



68019157852, L=

Question Number : 34 Question Id : 68019114916 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST I (Components/Material)) LIST II (Functions)
A |Cement 1. |Load Bearing
B. |Window II. | Tensile strength
C. |Foundation III. | Setting time
D. |Steel IV. |Glazing

Choose the correct answer from the options given below:
Options :

68019157853, A-L. B-IV. C-III. D-II

68019157854, A-L. B-II. C-III. D-IV

68019157855, A-III. B-IV. C-1. D-II

68019157856, A-IV. B-1II. C-II. D-I

Question Number : 34 Question Id : 68019114916 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 11 =t 11 F fiaH &3

R 1 (T /AT = 10 (@1

A [diEe 1 |ars faaRa

B. | I |G Hotee (SR )
c. |fa I |8 ergH

D. |&a IV. |99 (ife)

i fGT U fd@edl O Tgl SR &1 99 D
Options :

68019157853, A-I. B-IV. C-III. D-II

68019157854, A-I. B-II. C-III. D-IV

68019157855, A-III. B-IV. C-1. D-II

68019157856, A-IV. B-1II. C-II. D-I

Question Number : 35 Question Id : 68019114917 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST I(struchture) LIST Il(places)
A |Humavun's Tomb L |Guarat
B. |Bibi Ka Magbara II. |New Dellu
C. |Hussain Doshi Gufa III. |Maharashtra
D. |Group of monuments, Mahabalipuram IV. | Tamilnadu

Choose the correct answer from the options given below:

Options :



68019157857, A-IL. B-IV. C-I. D-III

68019157858, A-IL. B-III. C-II. D-IV

68019157859, A-IL. B-III. C-I. D-IV

68019157860, A-II. B-I. C-IV. D-III

Question Number : 35 Question Id : 68019114917 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A1 1 %1 gl 11 9 HaH o3
__ 1@ T 11 (R
A |gHH] &1 HBE 1 [orma
B. [diTel &1 Ahal I |72 fewh
C. g8 &=t 7w 111 [AERTY
D. [HR®! &1 §HE. HeWRA IV [affeErg

e fau Y famenl # ¥ Tl SR &1 997 o
Options :

68019157857, A-IL. B-IV. C-I. D-III
68019157858, A-IL. B-IIL. C-II. D-IV

68019157859, A-II. B-III. C-1. D-IV

68019157860, A-IL. B-I. C-IV, D-III

Question Number : 36 Question Id : 68019114918 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
A |Stairs I. |Kev stone
B. |Door II. |Toothing
C. |Arch I1I. [Jamb
D. |Brick work IV. |Tread

Choose the correct answer from the options given below:
Options :

68019157861, A-IV. B-1II. C-I. D-II

68019157862, A-IIL. B-I. C-IIL. D-IV

68019157863, A-I. B-IIIL. C-IV, D-II

68019157864, A-IIIL. B-IV. C-II. D-I

Question Number : 36 Question Id : 68019114918 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Yl 11 g1 11§ e &3
Tt 1 a1
A [ i AESIE]
B. [cara IL [2fE
C. [T 111 (S
D. |32 v |28
i feUu U fab el § U ol 3R &l 904 By

Options :



68019157861, A-IV. B-1II. C-I. D-II

68019157862, A-IIL. B-I. C-IIL. D-IV

68019157863, A-L. B-IIIL. C-IV, D-II

68019157864, A-IIIL. B-IV. C-II. D-I

Question Number : 37 Question Id : 68019114919 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements :

Statement I : A partition wall is defined as an internal wall whose function is to
divide the space within the building.

Statement II : Partition wall could be load bearing or non-load bearing.

In the light of the above statements. choose the most appropriate answer from the
options given below:

Options :
68019157865. Both Statement I and Statement II are correct
68019157866. Both Statement I and Statement I are incorrect

68019157867. Statement I 1s correct but Statement II is incorrect

68019157868. Statement I 1s incorrect but Statement I 1s correct

Question Number : 37 Question Id : 68019114919 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

4 &1 PY Ry &

Y1 : Wiy fGaR & SiaRke® [GaR & w0 1 gy faear s
forge! far Yad & o< & ' &f fauifoid s gl

Eg:mﬁwﬁwmaﬁ:ﬂmﬁ—swﬁa{wqﬁmﬁuﬁﬂﬁ
|

SWRIdd DUl & 3l § A fou 7 fadbedi § T gduyl 3ugad Ik &1 99+
GiTE

Options :

68019157865, &Il YT I R BUII el o

68019157866, &IFI DU I 3R HY 11 7Ted ©

68019157867, PUT 1 TEI § [P PUT 1 7Tad §

63019157868, PUT L TTEd © fbg PUT 11 TET ©

Question Number : 38 Question Id : 68019114920 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other 1s
labelled as Reason R :

Assertion A : Social integration at work place 18 necessary.

Reason R : There are many backward classes in society.

In the light of the above statements. choose the cerrect answer from the options
given below :

Options :

68019157869, Both A and R are true and R 1s the correct explanation of A



68019157870, Both A and R are true but R 1s NOT the correct explanation of A

68019157871. A iz true but R is false

68019157872. A 1s false but R 1s true

Question Number : 38 Question Id : 68019114920 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- &1 By ST T &: Ud &l SNy A Sifdhd fhar a1 § 3R g3 &1 BRUI
R $ =0 H 3ifdd frm mar g

SfUPYT A : T =T R GG THIH0 ATaTH 6|

PRI R : GAG H &5 [0S SN

SWRIGd Bl P 3faid J A4 (4T T8 fadpedl § ¥ gaul 3ugad 3R & 99+
GiTE

Options :

68019157869, &Il A SR R T&1 & 3R A H! ol AR ¢ |

63019157870, &I A 3R R Tl € fdie R, A &1 Hel TR 761 5

63019157871, A I [HI R 3T |

63019157872, A 3T [BJRIA |

Question Number : 39 Question Id : 68019114921 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Primary colours are



Options :

68019157873, Red. Blue. Yellow
68019157874, Red. Green. Blue
68019157875, Red. Violet, Yellow

68019157876. Red. Green. Yellow

Question Number : 39 Question Id : 68019114921 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
oa I 8:

Options:

68019157873, CIICl. * I, dic

68019157874, TTCl. B, =iIdll

68019157875, CIIdl. &I, Uil

68019157876, <ITal. BRI Tlall

Question Number : 40 Question Id : 68019114922 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The stairs kept in motion by a revolving drum is known as a



Options :

68019157877. Escalator
68019157878. Lift

68019157879. Elevator

68019157880, Revolving stairs

Question Number : 40 Question Id : 68019114922 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A dTel g4 gRI =Mierd R¥feal &l & =T 9 §HI a6

Options:

68019157877. E{Eai AR

68019157878, [¢IUE

68019157879. E{Ela X

63019157880, IXaTeaT o (guf Hidh

Question Number : 41 Question Id : 68019114923 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following structure does not have a dome?



Options :

68019157881. Gol Gumbaz
68019157882. Avicii Arena
68019157883. St. Paul's Cathedral

68019157884. The Shard

Question Number : 41 Question Id : 68019114923 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e feu T iy e & 1ae (@) el &2

Options:
68019157881, ‘114 [HI®
68019157882, ATl T

68019157883, M€ UTT BUFT

68019157884, 4l TS

Question Number : 42 Question Id : 68019114924 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Given below is the famous temple in India. Identify the style of temple architecture
adopted in the temple.

Options :

68019157885, Nagara
68019157886. Dravidian
68019157887, Vesara

68019157888. Orissan

Question Number : 42 Question Id : 68019114924 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I YRd 1 U Ul AfeR ewiar mar €1 iR # e v areg e #
It 1 UG B

Options:



68019157885. 11X

68019157886. & ai% a-

68019157887, GURI

68019157888, AT

Question Number : 43 Question Id : 68019114925 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST I(Plan) LIST [1(Building Name)

I. |Taj Mahal

II. |Qutub Minar, New Delhi

II1. |Matr: Mandir, Auroville

IV, |Sanchi Stupa

aloYelc

Choose the correct answer from the options given below:
Options :

68019157889, A-IV. B-1I. C-III. D-I

68019157890, A-II. B-III. C-IV. D-I



68019157891, A-IIL. B-II. C-IV. D-I

68019157892, A-IV. B-III. C-II. D-I

Question Number : 43 Question Id : 68019114925 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Il 11 gl 11 § i &%
=l 1 @) H1 11 (Y BT 718)

Q|-

B. O I1. [Pge FAR, 73 e

C I [47q HfeR SiRifaa
O 9 -

D. IV. [t %™

feu Ty fgwed ¥ 3 6l SR &1 99 B

Options :

68019157889, A-IV. B-1I. C-III. D-I

68019157890, A-IL. B-III. C-IV. D-I

68019157891, A-IIL. B-II. C-IV. D-I

68019157892, A-IV. B-III. C-II. D-I



Question Number : 44 Question Id : 68019114926 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The botanical name of "MANGOQO" tree 1s

Options:

68019157893, Azadirachita Indica

68019157894, Mangifera Indica

68019157895. Delonux Indica

68019157896, Delonux Regia

Question Number : 44 Question Id : 68019114926 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
319 & US Bl gD I &:
Options :

68019157893, AU AT SSH

68019157894, H TR 2 ST

68019157895, S¢l-ad 55|

68019157896, SI@-a= Ifordl



Question Number : 45 Question Id : 68019114927 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Scientific study of human body measurements :

Options :

68019157897, Depth Perception

68019157898, Anthrology

68019157899, Axenometry

68019157900. Anthropometry

Question Number : 45 Question Id : 68019114927 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HFd YRR H194 &7 a9l (g -
Options :

68019157897, 16 STATTH (M )

68019157898, H1Fd Sifde (a7

68019157899. an HeX

68019157900, HI1d fifa (@Rmiteeh)



Question Number : 46 Question Id : 68019114928 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FAR. stands for

Options :

68019157901. Facade Area Ratio

68019157902. Floor Area Ratio

68019157903, Fire Accessible Ramp

68019157904. Fire Arch Ratio

Question Number : 46 Question Id : 68019114928 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FAR &1 HU -
Options :

68019157901. 58 aredr X2

68019157902. R E{IEEI X

68019157903, PR UHEITaT 1

68019157904, T4 3 Skew



Question Number : 47 Question Id : 68019114929 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

On an engineer scale. 1 cm = 10 m. Identify the representative fraction (R.F.)
Options :

68019157905. 1/100

68019157906. 1/10

68019157907. 1/1000

68019157908. 1/10000

Question Number : 47 Question Id : 68019114929 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U SHFIHED ol UR 1 em = 10 m 5. Al UidH{¥@ 3% (R.F.) 7d Br-
Options:

68019157905. 1/100

68019157906. 1/10

68019157907. 1/1000

68019157908. 1/10000

Question Number : 48 Question Id : 68019114930 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the iconic Landmark :

W ¢ it

—_—

Options:

68019157909, Taipei 101

68019157910. One World Trade Center

68019157911, Sydney Opera House

68019157912. Shanghai World Financial Center

Question Number : 48 Question Id : 68019114930 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ot 1 (@dsHd) Bt ueaH o¥:

Options:



68019157909, 15U 101

68019157910, U® [d%d AR &%

68019157911, [HS-1 HURT 13T

68019157912, TdTs G¢s WIS Uex

Question Number : 49 Question Id : 68019114931 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the name of the Landmark :

Options :

68019157913, Crystal Palace, London

68019157914, The Louvre, Paris

68019157915. German Pavilion for World exibition, Barcelona

68019157916, Vitra Design Museum. Basel



Question Number : 49 Question Id : 68019114931 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y[ (csHId) BT - aal

Options:

68019157913, I9Pecd Ueid, Tie

68019157914, Gl Glax, URE

68019157915. aﬂﬁqﬁ%ﬂqwa@‘wﬁﬂw AR

68019157916, 191 SollgH HfogH. i

Question Number : 50 Question Id : 68019114932 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Identify the famous Monument in the given picture.

Options :

68019157917. Chand Baoli

68019157918, Stepped Pyramid

68019157919, Golden Lily Pond

68019157920, Alravates-vara Temple

Question Number : 50 Question Id : 68019114932 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fau U o ¥ guiiis RS &l UgaH o

Options:



68019157917, dig E13{Id]

68019157918 s s (@i T fiRifers)

68019157919, TTica dicl Uis

68019157920, TARIAdI-aRT e

Question Number : 51 Question Id : 68019114933 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A man 1s facing towards East and turns through 45° anti clockwise, again 180°

YTOR

anticlockwise and than turns through 270° clockwise. In which direction 1s he
tacing now?

Options :

68019157921. South-East
68019157922. South-West
68019157923. South

68019157924, North-East

Question Number : 51 Question Id : 68019114933 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TS Afdd gd figa € ok vt ot fqufva femn 45> R g wrar g1 fom @
g1 I fquied [ 180° IR qUT q4=aTd 270° US1 $f (G H GH G161 3@
g fra fgan & sfimg@ 3

Options :

68019157921, SI&U-0d

68019157922, GI&U-UfZaH

68019157923, GI&f0I

68019157924, 91 E-Elﬁ

Question Number : 52 Question Id : 68019114934 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The lightness or darkness' of a colour 1s defined as :
Options :

68019157925. Hue

68019157926, Brightless

68019157927. Dullness

68019157928. Value

Question Number : 52 Question Id : 68019114934 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
el 3T BT TTERTU U@l SEPTU TIRHIING Bl &-
Options:

68019157925, &4 (Hue)
68019157926. dHd éjf:[ (Brightless)

68019157927, PIBTI (Dullness)

68019157928. e q

Question Number : 53 Question Id : 68019114935 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Select a figure amongst the answer figures which will continue the same series or
pattern as established by the problem figures.

N
N__/

Options :

68019157929.

68019157930.




68019157931.

A
_

Question Number : 53 Question Id : 68019114935 Question Type : MCQ Option Shuffling : Yes

68019157932.

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR MPfadl ¥ ¥ TP HHId DT 90 B Wl fob THT 31 gRT g=yiiad
UeH Yl SHD! Y&l Dl Fcld TG:

PN
™ < \> ) . ")
™ e . .
N/
e
Options:
680191579209.
68019157930.

68019157931.



68019157932.

Question Number : 54 Question Id : 68019114936 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the true mirror image of the figure amongst the answer figures with
respect to-X-X

X

S

i

x|

Options :

68019157933.

68019157934.

68019157935.



68019157936.

Question Number : 54 Question Id : 68019114936 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

X-X & HaY T 3R S1Ppid O 4 Fgl qUUl (4§ &1 Ug=H &

X

e

S

x/|

Options :

68019157933.

68019157934.

68019157935.



68019157936.

Question Number : 55 Question Id : 68019114937 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

[dentify the mirror image of given word :

PROGRESS !

Options:

68019157937. PROGRESS
68019157938. 2S3AD0CAAY
68019157939. 223AD0OAY]

68019157940. €23RGORAA

Question Number : 55 Question Id : 68019114937 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



feu 7T Irsg & 24U faE ot ggaH @i

I
PROGRESS !

Options :

68019157937. PROGRESS
68019157938. 2S3IAD0CAAY
68019157939. e€3AV OV AS

68019157940, 88 3RGO AT

Question Number : 56 Question Id : 68019114938 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct mirror image of the given figure along x-y axis :

X

Options :

68019157941.




68019157942.

68019157943.

68019157944.

Question Number : 56 Question Id : 68019114938 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
x-y axis & HIY TP b Tg| gUUT [§7a Bl Ug=aH di:

X

Options :

68019157941.

68019157942.



68019157943.

68019157944.

Question Number : 57 Question Id : 68019114939 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The question figure shows the 3D view of an object. Identify the correct view of
the object looking in the direction of arrow.

A
Options :

68019157945.

68019157946.



68019157947.

68019157948.

Question Number : 57 Question Id : 68019114939 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Uy 3Tl ol 9% 1 3D TR &Wichl 8| AR 1w & =fP77d H=d gu uel
90 & UgdH oy:

A
Options :

68019157945.

68019157946.



68019157947.

68019157948.

Question Number : 58 Question Id : 68019114940 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the true mirror image of the figure amongst the answer figures with
respect to X-X :

i&;

A m

e e e

L

Options :

A =

68019157949, Ik

68019157950.



2
m
=
68019157951, l_fz?’

68019157952.

Question Number : 58 Question Id : 68019114940 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

X-X & gy H IR SA1Pid H I Fl a4V [§76 DI UgarH B

n

N\

[ |
X A
Options :
|
=
68019157949, Ik “r‘\:a\
||
5;“;’
68019157950. Il '--///3




P

N

68019157951, I

68019157952.

Question Number : 59 Question Id : 68019114941 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'Kuchipudi' 18 a unique dance from which state ?
Options :

68019157953, Madhya Pradesh

68019157954, Tamil Nadu
68019157955, Kerala

68019157956. Andhra Pradesh

Question Number : 59 Question Id : 68019114941 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
DAY 58 I &1 U SHigadid 7a 82

Options :

68019157953, H& UGH]



68019157954, 1 g

68019157955, DX

68019157956, 1% WXl

Question Number : 60 Question Id : 68019114942 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the below given material 1s not a plaster type ?

Options:

68019157957, Gypsum
68019157958. Lime
68019157959, Cement

68019157960. MDF

Question Number : 60 Question Id : 68019114942 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e feu U faeedl 8 T &iF I 9l @Re: &1 UHR ol 82
Options :

68019157957, Wil



68019157958, &I

68019157959, [LTHE

68019157960, UH SI TP

Question Number : 61 Question Id : 68019114943 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who initiated the construction of Qutub-Minar. Delhi?
Options :

68019157961, Muhammad Quli Qutub Shah

68019157962. Muhammad Azam Shah

68019157963, Qutub-Ud-din-Aibak

68019157964, Iltutmish

Question Number : 61 Question Id : 68019114943 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
feeel FRud $aa 9IHR &1 FHai [ sRey e um

Options :

68019157961, Be-a Pl ds e



68019157962, SerHa STeH RMTE

68019157963. ?@ﬂ-d%-ﬁ?l{ﬂﬁ?

68019157964. E‘Ei“ E

Question Number : 62 Question Id : 68019114944 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When is the world Environment Day celebrated?
Options :

68019157965. 5 June

68019157966, 10 July

68019157967. 22 March

68019157968, 15 August

Question Number : 62 Question Id : 68019114944 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fawg qaiavvl fEag oe T 9T 82

Options:

68019157965. 5 L1



68019157966, 10 It ¢

68019157967, 22 A

68019157968. 15 STT&d

Question Number : 63 Question Id : 68019114945 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Visual weight 1s associated with :

Options :

68019157969, Emphasis
68019157970, Texture
68019157971. Balance

68019157972. Pattern

Question Number : 63 Question Id : 68019114945 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T2 ao BESEIECES

Options :

68019157969, §U (Emphasis)



68019157970, SXd-T (Texture)

68019157971, V40 (Balance)

68019157972, "1 (Pattern)

Question Number : 64 Question Id : 68019114946 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Lines those branch off of a central point are referred to as :

Options :

68019157973, Rhythm

68019157974, Repetition

68019157975. Radiation

68019157976, Proportion

Question Number : 64 Question Id : 68019114946 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 514 fog 9 Ba-aral RdT w13 o1 gafiid foan S 6

Options :

68019157973, TH



68019157974, &lgI

68019157975, [0l

68019157976. HIHHIM

Question Number : 65 Question Id : 68019114947 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

V7 concept of Chandigarh city 1s associated with which architect?
Options:

68019157977. Patric Geddes
68019157978. Le Corbusier
68019157979. Frank O Gehri

68019157980. Zaha Hadid

Question Number : 65 Question Id : 68019114947 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A& TR B V7 Fdheadl [y aRdldg ¥ SeiUd g |

Options:

68019157977. E»-i %E

68019157978.



A BIYRR

68019157979, Wheb 311 TIgY

68019157980. VIIEI 8 EE

Question Number : 66 Question Id : 68019114948 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who 18 known as "Father of contemporary architecture” ?
Options :

68019157981. Le Corbusier

68019157982. Louis Sullivan

68019157983, Frank Gehry

68019157984. Norman Foster

Question Number : 66 Question Id : 68019114948 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fhy AP @ @l Pl o ("Father of contemporary architecture") D
=0 H SIS 82

Options:

68019157981. NE: i DR




63019157982, Ued Tl

68019157983, e 1I5%

68019157984, ATHT HIRC

Question Number : 67 Question Id : 68019114949 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who designed 'India Gate'?

Options :

68019157985, Edwin Luytens
68019157986, Raj-Rewal

68019157987, George Writtet

68019157988. Norman Foster

Question Number : 67 Question Id : 68019114949 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
=Syl e foaH fEung fobar ur

Options:

68019157985. ES[E' gé N



68019157986, ST ¥dTd

68019157987, 1Y Ig C

68019157988, ATHT BRI

Question Number : 68 Question Id : 68019114950 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following architects has not won the Pritzker prize till 20197

Options :

68019157989. B.V. Doshi
68019157990. .M. Pie
68019157991. Arata [sozki

68019157992, Moshe Safdie

Question Number : 68 Question Id : 68019114950 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
frafaed & 9 fo argeanfdel = 99 2019 9 [UCER RISR el Siidr 4

Options:

68019157989, S &l &Il




68019157990, 3Ts. TH. T,

68019157991. SIRdl gHIG P

68019157992, HIRI AHig

Question Number : 69 Question Id : 68019114951 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Terra cotta is a type of earthen work which 1s processed by :
Options :

68019157993, Burning at high temperature

68019157994. h‘IiKﬁlg with lime

68019157995, Compacting with pressure

68019157996, Drying in the Sun

Question Number : 69 Question Id : 68019114951 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
RSB IE] TP YHR P Jal B ¢ ol f &R TR d ST 2

Options :

68019157993, J=d dUHIH U2 Yuwidei-



68019157994, I 9 WY I 3 R

68019157995, &l¥ HY- (Compacting with pressure)

68019157996, 4T H TG

Question Number : 70 Question Id : 68019114952 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which building material 1s primarily used as a building material for the Great wall
of China?

Options :

68019157997. Timber
68019157998, Steel
68019157999, Brick

68019158000. Concrete

Question Number : 70 Question Id : 68019114952 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9iF B e ard (Fafu d SF I STuRYd Yaq el W ol 11 oA

Options:

68019157997, [¢H&R



68019157998, ¥Id

68019157999. _5??

68019158000, BIdec

Question Number : 71 Question Id : 68019114953 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the architectural symbol represented in the given figure.

ﬂ  — 7
: 7t

68019158001. Window

68019158002, Sliding door

68019158003, Revolving door

68019158004, Rolling shutter

Question Number : 71 Question Id : 68019114953 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e €t g st H aRgfied & Ui @f ugaH ok |

TP

68019158001, G (fd3)

68019158002, < réi% IS

68019158003, Xalfedl SR

68019158004, UTeiT TEX

Question Number : 72 Question Id : 68019114954 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Percentage of lime content in ordinary Portland cement 1s
Options :

68019158005. 30% — 40%

68019158006. 40% — 50%

68019158007. 60% — 70%

68019158008. 70% — 80%

Question Number : 72 Question Id : 68019114954 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IR Giccis S B 1 &1 O30 &1 9= 8-

Options :

68019158005. 30% — 40%

68019158006. 40% — 50%

68019158007. 60% — 70%

68019158008. 70% — 80%

Question Number : 73 Question Id : 68019114955 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sill Level 15 associated with

Options :

68019158009. Roof

68019158010. Column

68019158011, Window

68019158012. Staircase

Question Number : 73 Question Id : 68019114955 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
BNEIESEH I 9Eia g
Options :

68019158009. Bd

68019158010, BIcH

68019158011. @E &

68019158012. it (WP 9)

Question Number : 74 Question Id : 68019114956 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s the terminology for the vertical portion between each tread of the stairs?
Options:

68019158013. Winder

68019158014. Riser

68019158015, Nosing

68019158016, Going

Question Number : 74 Question Id : 68019114956 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Tifedi & Ud® 9HeH (tread) P &g IIER YT H1 saTdel] 1 67

Options :

68019158013, AI2SX

68019158014, XIg4IX

68019158015, T4

68019158016. ”5 |

Question Number : 75 Question Id : 68019114957 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The question figure shows the 3D view of an object. Identify the correct view of
the object looking in the direction of arrow :

Options :

68019158017.

68019158018.




68019158019.

68019158020.

Question Number : 75 Question Id : 68019114957 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U= 3{Tepidl el o T 3D TR Tl & | Tk I &= & efP7rd = U Tel
€0 O Je T PR

Options:

68019158017.

68019158018.

68019158019.




68019158020.

Question Number : 76 Question Id : 68019114958 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Complete the number sequence :
1B, 27,38, 50 - v 83
Options :

68019158021. 62
68019158022. 66
68019158023. 64

68019158024. 72

Question Number : 76 Question Id : 68019114958 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR BT ST 0] B

18.27,38.51, ..o, B3
Options :

68019158021. 62



68019158022. 66

68019158023. 64

68019158024. 72

Question Number : 77 Question Id : 68019114959 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the question figure a-3-D object 1s given, Identify the correct top view of the
object amongst the answer figures.

" -H“"\-:_
KT RS -
H""\:_\\\ \\‘\ - "H-___j- _-o-"%
-\-H--\-\-t-\-\'\-\'\l\‘__.o-"- o -
Options :
68019158025.
68019158026. I

68019158027.



68019158028.

Question Number : 77 Question Id : 68019114959 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gwﬁﬁws-mﬁaﬁﬂﬁ%lmaﬂmﬁ%ﬁﬁmﬁw
|

ST T
- {%
™. \\ =, G s
Hx“'h-._,__ .\‘m \"x _'_F.:-"'-Fl._\_\_] "
"'\-\.E\‘_ﬁ_ -
Options:
68019158025.

68019158026.



68019158027. ‘

68019158028.

Question Number : 78 Question Id : 68019114960 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In question figure - 3D object is given. Identify the correct view of the object
looking 1n the direction of the arrow. amongst the answer figures.

Options :

68019158029.



/

68019158030.
68019158031. [
68019158032. ‘

Question Number : 78 Question Id : 68019114960 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

R 3Pl 3D T &g 7Tg o | IR AP adl § 9 dR i (431 8 faarg & 3@
A% & Yol exd B UgdH B

Options :

68019158029.



68019158030.
68019158031.
68019158032. ‘

Question Number : 79 Question Id : 68019114961 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In question figure a 3-D object 1s given. Identify the correct view of the object
looking in the direction of arrow, amongst the answer figures.

Options:

68019158033.




68019158034.

68019158035.

68019158036.

Question Number : 79 Question Id : 68019114961 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR AT 3-D T &2 718 51 SR MGfa § J TR o1 femm & fgang < <
9%] & Hol T¥G Pl g H:

Options :

68019158033.

68019158034.



68019158035.

68019158036.

Question Number : 80 Question Id : 68019114962 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In the question figure a 3-D object is given. Identify the correct top view of the
object amongst the answer figures.

Options :

68019158037.

68019158038.



i

r.

68019158039.

=

68019158040.

Question Number : 80 Question Id : 68019114962 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PRE] 3-D O] M1g 715 o | IR Ml § 1 I D1 Fol 2y €xg Bl
EEEIECEY

Options :

68019158037.

68019158038.



=

68019158039.
68019158040.

Planning
Section Id : 680191293
Section Number : 4
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 25
Number of Questions to be attempted : 25
Section Marks : 100
Enable Mark as Answered Mark for Review and
Clear Response: ves
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 680191383
Question Shuffling Allowed : Yes

Is Section Default? :

null



Question Number : 81 Question Id : 68019114963 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Urban heat 1sland 1s its surrounding rural areas.

Options :

68019158041. Colder than

68019158042, Neutral to

68019158043. Warmer than

68019158044, Having same temperature with

Question Number : 81 Question Id : 68019114963 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e W Y U= U & 9rHior &3 S CEInIG]

Options :

68019158041, U 3UST

68019158042, I dexY

68019158043, ¥ TH

68019158044, & 1Y FH dTIH T



Question Number : 82 Question Id : 68019114964 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST I (Cities) | LIST II (Planner)

Jaipur I. |O. Konigsberger
Gandhi Nagar | II. |Doxiadis
[slamabad I[1I. |H K Mewada
Bhubneswar IV, |Vidvadhar

=

o|o|w

Choose the correct answer from the options given below:
Options:
68019158045, A-I. B-II. C-III. D-IV

68019158046, A-IV. B-III. C-II. D-I

68019158047, A-IL. B-IIIL. C-II. D-IV

68019158048, A-IV. B-II. C-III. D-I

Question Number : 82 Question Id : 68019114964 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 1 1 i 11 ¥ e i

1 (¥EY) i‘fr-ﬁII
A [GER - |5 BT EeR
B. [TiE TR 1. |Sifeaansy
C. |3aMEE |11 |ug & HareT
D. |Ya"¥R v |faemR

i fGu e fas el § 9 9el 3T &1 994 DI

Options :



68019158045, A-I. B-II. C-III. D-IV

68019158046, A-IV. B-1II. C-II. D-I

68019158047, A-I. B-III. C-II. D-IV

68019158048, A-IV. B-II. C-III. D-I

Question Number : 83 Question Id : 68019114965 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statement:
Statement I : On November 8. 2016. demonetization was declared in India.

Statement IT : On that day, Prime Minister of India announced the demonetization
of Rs. 500 & Rs. 1000 notes.

In the light of the above statements. choose the correct answer from the options
given below:

Options :
68019158049. Both Statement I and Statement II are true
68019158050. Both Statement I and Statement IT are false

68019158051. Statement I 1s true but Statement II is false

68019158052. Statement I 1s false but Statement IT 1s true

Question Number : 83 Question Id : 68019114965 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S Py MU
PYT 1 : § TG 2016 B YR T Alcad] I TN Bl M5 |

HYT 1 : 39 &7 YRd & GUTHEAT 3 3=, 500 TG 1000 DI AT AT Ale] DI Aie
Fcl DI U0 P |

SR fGU U HYHI B YR IR, i fGU 7 faedl § 9 981 SR -
Options :

68019158049, Gl B, BYUF I IR HU 11 Iol o

68019158050, &1 @YU, FYU I 3R HY= 11 7T1Ad ¢ |

68019158051, U 1 TE! &. fdb=g HU- 11 7T B

68019158052, PUT1710d &, fd=q HYUT 1 HEl €1

Question Number : 84 Question Id : 68019114966 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The given diagram shows the demand & supply of food items amongst users.
Identify which food item was least supply among all.

V7] DEMAND
[ 1 supPPLY
e
+ 200
4&0) = /
400 o
el 2
3 4
v} 250 / B /
B 2004 % // ///
#1504 / /// /
= 100 / /
gl 7 A /) a4 1,
k RICE LENTIL  ATTA VEGETABLE
«———— FOOD ITEMS ——»
Options :

68019158053. Lentil

68019158054, Vegetable

68019158055. Rice

68019158056. Atfta

Question Number : 84 Question Id : 68019114966 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ST 70 R & SUHiadsf & WarT 8§ @l T Hisg el &1 T 3R 3gfd
& YR G ST 1 81 3 Hisy uerd &f uga &, forgeT uanT
IUYIFd3 gRT &0 9 HH 011 § [Gar A gl

P73 im
[ smyfd

i 4
S0
450 -

0] [/ //
=l
o é

FUHTET

Options :

68019158053, 3%

68019158054, ool

68019158055. dldc]

68019158056. AT

Question Number : 85 Question Id : 68019114967 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which five year plan period was the slogan 'Garibi hatao' given?

Options :

68019158057, First five year plan

68019158058, Third five year plan



68019158059, Ninth five year plan

68019158060, Fifth five year plan

Question Number : 85 Question Id : 68019114967 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
[ U auila AT & BRIBT & SHild TRIa! gelsi &1 ART f&ar 1 41

Options :

68019158057, UUH TUIau g ATl

68019158058. Eiﬁ[ EERIRRIRE

68019158059, A1dl UIaNg GIaf-1

68019158060. GTgdl GIau (g TIaf-T

Question Number : 86 Question Id : 68019114968 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s considered to be the first planned city of independent
India?

Options:

68019158061, Gandhinagar

68019158062. New Delhi



68019158063, Chandigarh

68019158064, Jamshedpur

Question Number : 86 Question Id : 68019114968 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

frefafaa o O fog wek & Wda YRd &1 aiford w8 & &9 8 WF oldl 67

Options :

68019158061, THATR

68019158062. 7—|€ Bl

68019158063. T TS [

68019158064, ° EF‘EE

Question Number : 87 Question Id : 68019114969 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The full form of "NITI" in NITI aayog 1s

Options :

68019158065, National Institution for transforming India

68019158066, National Institution for transterring India



68019158067, National Institution for training India

68019158068. National Institution for tourism India

Question Number : 87 Question Id : 68019114969 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Afifel ST # T 317821 315, 1 fasgd Eu &

Options :

68019158065, 11T SR IR B ZAT i s

68019158066, T4 SECICRH PR CRIBIRT 55Tl

68019158067, T SRR IR ¢ -1 53T

68019158068, TR0l G ICYRMH PR CRH 12l

Question Number : 88 Question Id : 68019114970 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who was the President of Indian National Congress at the time of independence of
India?

Options:

68019158069. Jawaharlal Nehru

68019158070. Mahatma Gandhi



68019158071, J.B. Kripalani

68019158072. Moulana Abdul Kalam Azad

Question Number : 88 Question Id : 68019114970 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR 1 WAdl & GHY HRAIG ALY DAY DT & DI UT?

Options:

68019158069, WATEX ATd 6%

68019158070, TETET TITe

68019158071. o, 4l Pyl j

68019158072, BT S/e3d DHaTH WS

Question Number : 89 Question Id : 68019114971 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
(Vehicle) (Manufacture)
A |THAR I |Volkswagen
B. |Yars [I. |Mahindra & Mahindra
C. 120 III. | Tovota Motor
D. |Vento IV. |Hyundai

Choose the correct answer from the options given below:
Options :

68019158073, A-II. B-III. C-IV, D-I

68019158074, A-IIL B-II. C-IV. D-I

68019158075, A-IV. B-II. C-III. D-I

68019158076, A-I. B-II. C-III. D-IV

Question Number : 89 Question Id : 68019114971 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

il 19 Gl 11 &1 e Sifee:
T A 11
e : AL L)
A |YR I |Gichd aiH
B. [a1R¥ IL. |Afg=1UUs Al
C. |38 20 I11. |@RiTeT Hiex
D. |[d=t v [gg=s
- feU T f9e el 7 1 Tel S| I
Options :

68019158073, A-IL. B-III. C-IV. D-I



68019158074, A-IIL. B-II. C-IV. D-I

68019158075, A-IV. B-II. C-III. D-I

68019158076, A-I. B-II. C-III. D-IV

Question Number : 90 Question Id : 68019114972 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other is
labelled as Reason R

Assertion A : The full form of NCR is the National Capital Region.

Reason R : NCR' in India is the designation for the conurbation which mcludes
New Delhi with surrounding urban areas of neighbouring states of Haryana. Uttar
Pradesh and Rajasthan.

In the light of the above statements. choose the mosr appropriate answer from the
options given below:

Options :

68019158077, Both A and R are correct and R is the correct explanation of A

68019158078, Both A and R are correct but R 1s NOT the correct explanation of A

68019158079. A is correct but R 1s not correct

68019158080. A 1s not correct but R 15 correct

Question Number : 90 Question Id : 68019114972 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

= g By fau MU B | U@ BT ey A siftrd frar g, SIR W @I
SR R 3ifed [ mar &

TUDYT A T 3R 7 f9%gd &Y AP A9 87

PRUTR : HRd J T 3R, 39 GaioH &1 U ¢ forgd s fSed & 91y
ST-U & TSI Tod] g0, 3R TS 3R o= & il 89 Mua gl

SR Pg T BYAT & YR TR, =i QT 7T¢ fapedl & 3 guifad 3w difor:

Options :

68019158077, A SR R &I Tol 6. R To! oReAl Tl ¢ ADI |

68019158078, A 3R R G T8l 8, =] R eI AR 781 Bcll A D1

68019158079, A Wel ©. fh= R TET el ¢

68019158080, A 6! 761 . fb=q R Tl §

Question Number : 91 Question Id : 68019114973 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Most of the energy used on Earth today originally come from which of these
sources?

Options :
68019158081. Sun
68019158082. Moon

68019158083. Ocean

68019158084. Soil



Question Number : 91 Question Id : 68019114973 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ggﬁ[@ﬁﬁﬂﬁﬁﬂﬁﬁﬁﬂﬁﬂ?ﬁﬁ.@@@ﬁﬁﬁ@%@ﬁﬁw

Options :

68019158081.7@f
68019158082, T-&H

68019158083, HEIHITIR

68019158084, 44!

Question Number : 92 Question Id : 68019114974 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The 74™ amendment of the constitution is related to
Options :

68019158085, Political party changed
68019158086. Urban local institutions

68019158087, Panchayati Raj

68019158088, Right to education



Question Number : 92 Question Id : 68019114974 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
g &1 7497 G T IERd Bl

Options:

68019158085, Tl e arel gqer

68019158086. QISR T

68019158087, TdTd! Il

68019158088, XI& BT HUBR

Question Number : 93 Question Id : 68019114975 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Dandaka form of settlement layout 1s basically a

A. Radial pattern

B. Grid Iron pattern
C. Star pattern

D. Octagonal pattern

Choose the most appropriate answer from the options given below:

Options:

68019158089, A only

68019158090, C only



68019158091, D only

68019158092, B only

Question Number : 93 Question Id : 68019114975 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
Xl A33C DT USSP =1 Held: qg

A. B ued

B. IS 3R UeH

C. ¥R YA

D. 3(¥ YSIHR U
- feu 7Tt fa et § 9 guifd SR g

Options :

68019158089, hdd A

68019158090, HAd C

68019158091, Pdd D

68019158092, Pdd B

Question Number : 94 Question Id : 68019114976 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements; one 15 labelled as Assertion A and the other 15
labelled as Reason R

Assertion A : Between 1921-1922. the production of tea and coffee grew up.

Reason R : As the non-cooperation moved into economic sphere and foreign
goods were boycotted and burnt.

In the light of the above statements. choose the mosr appropriate answer from the
options given below:

Options :

68019158093, Both A and R are correct and R is the correct explanation of A

68019158094, Both A and R are correct but R 1s NOT the correct explanation of A

68019158095. A is correct but R is not correct

68019158096. A 1s not correct but R 15 correct

Question Number : 94 Question Id : 68019114976 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 S FYA U MU R | TP &1 Ay A Sifdd frar man B, siR g
HRUTR 3 o T &:

HTUDYT A : 1921-1922 & T T 91 3R PG & I T dglav! gs|

BRUIR : oY oY SEANT A=<l e &3 o 3l agl iR faexit axgai
P dfe™HR a1 T 9l 5T 15 |

SIRI fagd PUl & YR W, = [3U T faeedl O 9 gyiRd W e

Options :

68019158093. Aﬁ?Rﬁﬂﬁ% R.Aﬁﬂﬁmmal

68019158004, A SR R &1 el 7. fg R. A BT WET oo -Tgf



68019158095, A Wel ©. fh=g R Tel el ¢

68019158006, A T&! &l 5. ] R TEI &

Question Number : 95 Question Id : 68019114977 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who was the first Vice-chairman of NITI Aayog?

Options :

68019158097, Rajiv Sharma

68019158098, Raghu nandan

68019158099, Arvind Panagariya

68019158100. Amitabh Kant

Question Number : 95 Question Id : 68019114977 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hifd SITaNT 1 UYT IuTena oI U1

Options :

68019158097, 3TGiid TrHT

68019158098, ¥4 T



68019158099. 2 dg Ei?iIIIE_EII

68019158100, HHITH BT

Question Number : 96 Question Id : 68019114978 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Name the Entreprencur of India who set factories during colonical period

A. Dwarakanath Tagore

B. Dinshoo Petit

C. Dhirubhai Ambani

D. Jamset J1 Nusserwanj Tata
E. Seth Hukumchand

Choose the correct answer from the options given below:

Options:
68019158101, /. B. C. D only
68019158102, A B. D. E only

68019158103. A C. D. E only

68019158104, A E. B. C only

Question Number : 96 Question Id : 68019114978 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=1 o 9 39 Ierdl &1 71 Fan, s YRd & siufHale & § erar! &t
RG] B |

A. GREMIY TR

B. fg Ufee

C. 4IPUTE Sl

D. ST S TERaTuil 2Ie]
E. 93§09

i fu T fddedl O U UEl 3R &1 9894 Difelu:

Options :

68019158101, PAUT A, B.C.D

68019158102, PAT A, B, D. E

68019158103, PAU A, C. D, E

68019158104, PAUT A E. B, C

Question Number : 97 Question Id : 68019114979 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What are the three R's those are used to save the environment which includes
forest?

Options :

68019158105, Reserve. Reduce & Recycle

68019158106. Reuse. Reserve & Reduce

68019158107, Reduce. Reuse & Recycle

68019158108, Reserve. Reuse & Reduce



Question Number : 97 Question Id : 68019114979 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
98 1 9 dH R B, 9l oTd Wied 9aiarul &1 g9 & forg v i o &2

Options :

63019158105, 1X91d. REH. Us Ramsied

63019158106, 49 RRord, TUS sy

68019158107, 1S4, [RG9. U0s Rumsida

63019158108, 1<91d. YW, TUs sy

Question Number : 98 Question Id : 68019114980 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The 'National Development Council' was constituted on

Options :

680191581009. lﬁth August 2015

68019158110, 1¥ April 1950

68019158111, 6 August 1052



68019158112. 168 August 2010

Question Number : 98 Question Id : 68019114980 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AY1Y fdrd aikee o1 76+ foar 7T Ur:

Options :

68019158109. 16 S{I1%d 2015

68019158110. 1 30T 1950
68019158111. 6 ST 1952

68019158112. 16 311 2010

Question Number : 99 Question Id : 68019114981 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Following pie chart gives a percentage distribution of time spent by a student on
various activities in a day. How much time she spent in playing every day?

[ Playing
[ Eating
[ Sleeping
[1 Reading

Options:



68019158113. 5 s

68019158114. 6 hrs

68019158115. 7 hrs

68019158116. 8 hrs

Question Number : 99 Question Id : 68019114981 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

eiferd U8 91 & §RI1 U S IR fafie fear-sargl J fad g &
[ [ [ = Y T = Oy
TR &1 STl & | 98 Widfe [T I90 Yo+ H 3 I8dl o7

= AT
T[]
g 1
=3 e

Options :

68019158113. 5

68019158114, 6 90T

68019158115, 7 HUC

68019158116. 8 HUC



Question Number : 100 Question Id : 68019114982 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- Sale

1600 - Profit

1500 -
1400
1300 -
1200
1104} -
1000 -
900 -
B =
TiM) =
600 -
500 -
400 -
300 7
2{M)
100 7

Sale in Cr

ANERRARRRRRMRARRR RN
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1980-1990 1990-2000 2000-2010
Years

[ g
=
—
I='
[ ]
=
=
=

The given diagram shows the sales of a company with respect to years. Which of
the following 1s correct?

A. Company made minimum profit in 2010-2020.

B. Company made more than 500 crore profit in 2000-2010.
C. In 1990-2000, company has reached highest sale.

D. In. 2010-2020. company made highest profit.

Choose the correct answer from the options given below:
Options :

68019158117. A

68019158118. B

68019158119. C

68019158120. D

Question Number : 100 Question Id : 68019114982 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1600 - ol
1500 -
1400 -

¢IISHU4

1200 +
1100 -
1000

900
B0
T 7
600
500 7
400
300
200
100

AIANERANARRRRRARRRNAY
AN
AN

AANWYWWANW

1980-1990  1990-2000 2000-2010 2010-2020

ay

fean T 3, eI & Hee H U Hil ol faehl et &1 FHefafed 5 3
DI el &2

. 2010-2020 & TeH, ] A FF7dH A1 SN
. 2000-2010 & eI, HIIHT H 500 BIS Y Y& BT WY HHMAT|

.1990-2000 H. B gRT A dd fSo S5
.2010-2020 T, ST §RI AUHTH A1H HHET T

Ry feed 3 4 98 IR 1 IR

Options :

e 0 e G =

68019158117. A

68019158118. B

68019158119. C

68019158120. D

Question Number : 101 Question Id : 68019114983 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- Sale

1600 - Profit

15000
14000
1300
1200
11100} -
10400
900
S
TN
600
500 7
4010
300 7
2{M) A
10> A

Sale in Cr

AN
AW
AN

AANTIVAWWWN

1980-1990 19920-2000 2000-2010 2010-2020

Years

In which year the sales of company 1s minimum ?

. 2000-2010
. 1990-2000
. 1980-1990
.2010-2020

[ W v s =

Choose the most appropriate answer from the options given below:
Options :

68019158121, B only

68019158122, C only

68019158123, A only

68019158124, D only

Question Number : 101 Question Id : 68019114983 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

1600 - o+
1500 -

i
ORI
ORI
AR

AW

1980-1990  1990-2000 2000-2010 2010-2020

a¥
fo o § Sl o fop] gad &
A. 2000-2010
B. 1990-2000
C. 1980-1990
D. 2010-2020
- fEu T faedl # 9 guii ST &1 gHT:

Options :

68019158121, Pdd B
68019158122, Bad C
68019158123, had A

68019158124, Bdd D

Question Number : 102 Question Id : 68019114984 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- Sale

1600 - Profit

1500 -
1400 -
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1200 -
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0 -
K00
T S
600
500 7
400
300 7
2000 7
100 7

Sale in Crn
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1980-1990 1990-2000 2000-2010 2010-2020
Years

Given below are two statements:
Statement I : In 2010-2020 company made maximum profit and minimum sale.
Statement IT : In 1980-1990 company made 50% profit of its total sale.

In the light of the above statements. choose the most appropriate answer from the
options given below

Options:

68019158125. Both Statement I and Statement II are correct

68019158126. Both Statement I and Statement II are incorrect

68019158127. Statement I 1s correct but Statement II 1s mcorrect

68019158128. Statement I 1s incorrect but Statement II 1s correct

Question Number : 102 Question Id : 68019114984 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1600 - i+
1500 -
1400 -

¢I13HU4

1200
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700 7
601 -
500 7
400
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ANANANANARARRRRRRRNAAY
AW
AN

AW

1980-1990 1990-2000 2000-2010 2010-2020

ay
T P fRu B
YT : 2010-2020 §, DI gRI GAqH (dspl DI T3 AR P aH a1y
S|

Y1 : 1980-1990 H DT GIRT Dl falchl BT 50% TTH HHAT T
SWRI falgd Pul & YR W, A" fqu T fde el § 9 guid S T
Options:

68019158125, G BYH, FYF I IR FY 11 ol o

68019158126, G TUH, TUF I 3R HYH 11 7T100d ¢

63019158127, PUT 1 E! 8. fb=g DU 11 7Tl B

68019158128, PUT1TTAA 8. [ FUT 1 WL B

Question Number : 103 Question Id : 68019114985 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- Sale

1600 - Profit

1500
14000
1300
1200 5
1104 =
10HMD
00 -
B
T =
600 =
500 7
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300 7
20r A
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Sale in Cr
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AW
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AANTINVAVVWWWWWW

1980-1990 1990-2000 2000-2010 2010-2020

Years

In 1990-2000 company profit percentage is
Options :

68019158129. 40.15%

68019158130. 50%

68019158131. 47%

68019158132. 45%

Question Number : 103 Question Id : 68019114985 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



1600 - N1k
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Options :

68019158129. 46.15%

68019158130. 50%

68019158131. 47%

68019158132. 45%

Question Number : 104 Question Id : 68019114986 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I : The last five year plan executed is 12th plan. It was launched in
2012,

Statement II : 12 five vear plan was for faster. sustamable and more mnclusive
growth.

In the light of the above statements. choose the correct answer from the options
given below



Options :

68019158133. Both Statement I and Statement II are true
68019158134. Both Statement I and Statement II are false
68019158135. Statement I 1s true but Statement II 1s false

68019158136. Statement I 1s false but Statement II 1s true

Question Number : 104 Question Id : 68019114986 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RECE NSRRI

SYF1 : O daasig giamr. 124 fearfaa aiemr o g8 2012 S URY ot 115
o

YT 11 : 1291 daauiig gior e, SdETeE R e gaaeh de™m &
for o

SWRIG feRad HuHl & SMTeR WR, i U T fawedi § I guifad 3w gHT:
Options :

68019158133, G B, FY I 3R HYF 11 Tg! 5

68019158134, &M @Y, TYF I 3R &Y= 11 7T00d ¢

68019158135, PUT 1 TE! &. fdb=g HUT 1 7T &1

68019158136, U 1 7Taid &, fdg PYT 1 HB1 B



Question Number : 105 Question Id : 68019114987 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

From the given diagram find out that mandir is located at which direction to

forest?

- 110 M

105 M
100 M

100 M

10 M

120 M

130 M

Options:

68019158137. North West

68019158138. East

68019158139. South West

68019158140. South East

Hospital

Forest

School

Mandir

Market

?

Question Number : 105 Question Id : 68019114987 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019158137, 31k GI&H

68019158138.Eﬁ§

63019158139, GI&0T UfgH

68019158140.Eﬁ?‘f{“t‘£f



